| dE/dx estimator 1 | | dE/dx estimator 2 |

0.3 - - - . - - Entries 4520 - - - - - - Entries 4520

o ; - : i | Mean 3.03 : CE : E i | Mean 2.904

r : : 1 : .| std Dev 1.112 : : | Std Dev 1.173
C S 0.3 T

0-25_"";'"""'; """ o} [ vl Entries 4056

: : : : ¢ [ Mean 3.043

Eﬁtries . . 4056
Mean 2.893

Std Dev 0.9875 0.25[ i pree freeeie| std Dev 1.022

7 | Moo s

- : = : : Entries 4044
N : ‘g : i | Mean 3.043 0.2

: : : : : Entries 4044
RLTIEEEERITIIIIE & TREEEE b f--o---1-o| Mean 2.893
: = : : : | std Dev 1.02

0,15 eerbeseis oo ]
I : : : : : : | Entries 3980 0.15
L : : : : : : Mean 3.046

r : : : : : : | Std Dev 0.979

0Lt N N o o ] : : :
: : : : : i | Entries 5282 0.1 : : : : : : | Entries 5282
Mean 3.003 i | Mean 2.879
Std Dev 1.113 = I : : : : ¢ | Std Dev 1.146

0.05

NIRRT B N s i......i...| Entries 3980
: : : : : : Mean 2.894
Std Dev 1.013

Ratio

| [

SR 0.8

a § 5

o 5 o o] -

: : l 0.6
- ] B

P
7 8 9 10 0
dE/dx, harm?2

=
F=ELELELE

T T T

1 2 3 45 6

o

—a— DOMStEp3_TT CKF
—o— DQMstep3~_TT default
—— DOMstep3 ckfPixelLess
—— DQMstep3 defaultl

0.14 —— DQMstep3_TT_defaultNEWTOLDSAMPLE
I : : : : . [ Mean 6.813

CTIaTeS 4520
Mean 0.5546
: : : : : : : : : : Std Dev 0.8883
0.12--- S S S S S b . ] O S NSNS SRR SR ]
- : : : : ¢ | Entries 4056 : : : : | Entries 4056

- : : : : . | Mean 7.454 : : : : . | Mean 0.6065

: . . . . ;| Std Dev 4.965 B ELETTTETT PEFRPPPE PPPPTRPE PREEPPRS N IES1 (o [ D11V 0.9215
0.1 Feeeeaen P PR P . i ; ; ; ;

T : : : : . | Entries 4044 : : : : ¢ | Entries 4044
g : : : : ¢ [ Mean 74721 oal...... e e e el .| Mean 0.6093
0.08f - AR Pttt [ Pt - 0.4 : : : : :
: Std Dev 4.962 Std Dev 0.9227

Entries 3980
Mean 0.6136
Std Dev 0.928

i : Entriés . 3980
0.06 /0. - | o o o Il Mean 7.517 0.3

Std Dev 4.959

0.04}— N S P pereee e | Entries 5282 0.2 o e o e | Entries 5282
. . . . . | Mean 6.485 . . . . . | Mean 0.5172

a2 | std Dev 4.928 | std Dev 0.862
0.02f—----- i oo Fremeeee Foreeeee e Froeeeees P 7 AR AR P e P e P proere ]
. T P P P e T T N T T T N

.................................................................

Ratio
=

[ —
L

O 75U O U DU U UUUUN DUUOE IO 1 O OO SO OO NOUUS SOOIt
-0 0O 20 30 40 50 60 70 8 "0 10 20 30 40 50 60 70 80

dE/dx number of measurements dE/dx number of measurements with saturation




	Contents
	Page 1


